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T} 120 A AABC 7} AB = AC ol o]=8AZFg el 1, AABO ©]
wolE Fotolzt.

C} - )
H -

| 2
> ®=F: 103 cm?

~&B

0 oA AB o & 49| T2 E 2 5tH
AB =AC °]2& OD = OE = 2V3(cm)

(AABO2] Hol) = % x 10 x 2V3 = 10 V3(cm?)
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AABC &= Aoz
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@ sin0° =0, sin90° =1 @ cos0°=1,cos90° =0
® sin45° = cos45° @ tan0° =0, tan45° =1
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1 3 sin 30° 1
® sin 30° = g0 cos 30° = i Sl =

2 cos30° 3

= tan 30°
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OA =9cm, OM =5cm, AM = V92 - 52 = 2V14(cm)
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/N N _
5.0ptAC : 5.0ptBD = 2 : 3 o|2& /ABC = 2x = 5}H,
/BCD = 3x o|t}.

/(APC = 2x + 3x =50, x=10°
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dle] Zoj?
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D 100 @ 64+20V3 ® 32+10V2
@ 80 @56+ 20v2

B \

AACE £ A ZPo| gAYl Br

AC =CE °]1, (AC)? = 2x 200 = 400 °| =&

AC = 20cm ©]t}.

%, AE = 400 + 400 = V800 = 20 V2
CE=20,CD=120]2&

ACDE + TetaratA Ao ofsf

DE = V400 - 144 = V256 = 16 °]t}.

AABE = AECD ©o]|B2 2

utetx] AtttE] & ABDE ©] E89] ol 16+ 12+ 16 + 12 +
20 V2 = 56 + 20 V2 ot}




16. A AHQ1% x+2, x+4, x+ 6 o] WekaLetA0] 27} HES S x o
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> ®MEeH: 4

~&B ~

(x+6)2 = (x+4)2+ (x+2)2

x4+ 12x+36=x%+8x+ 16+ x> +4x+4
=16 ,x=+4

L x=4(" x> 0)
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D n?=xy @ b =cy
® a®=cx @CQZab
G a4+ b = 2

@D c?=a®+b?
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DO = /a2 + (V2a)?2 = V3a
A}z
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21. thg 23 2ol & mA e Zo]7} Sem
A HAAA A M Mo] AB o] THY o,
AMCD 9] §o]& 5tH?

@ 8+3cm? @ 4+2cm? ® 4+/3cm?
@16 V2em? ® 3242cm?

AABC = Aol By
X 8 = 4V3(cm)
MC = MD ©|E&Z aMCD = o5 4z} o] "},
- (AMCD9] &90]) = /(4V3)2 -
=32 = 4\/5( cm)

- AMCD = 8 x 42 x % =16 V2(cm?)

MC =

wla




22. TS OEL Hx]Eo] 1 ¢l Yolt}, cosx B UEHY = AE L9
B
Vi
V)
NV

®AB @ o008 @op ©BD

COS X =
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23. FHHIZ A " UF7 vEE drot of5 I3} Zol 2
A}, o] YF7 2 2]7] M 9] =ol& thg AZtd] 9] &
“FobH?

el = sin cos tan
40 0.6428 | 0.7660 | 0.8391
50 0.7660 | 0.6428 | 1.1918
D 6.428m @ 7.660m ® 8.391m
@ 11.918m (@)14.088m

BC = 10sin50° = 10 x 0.7660 = 7.660( m)
AB = 10cos50° = 10 x 0.6428 = 6.428( m)
kA LHR9] 20]= 7.660 + 6.428 = 14.088(m) ©]t}.
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